Simple Linear Equations (A)

o 45=7

+8=13

<

245=9

Solve for each variable.

a§+3:7 1L§+8:15
7.%—3:3 12.§+10:12
8 2+§:7 13.8—}—%:12
92+g:11 146+g:12
1og+uhzn 15%+8:12
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Simple Linear Equations (A) Answers

Solve for each variable.

Z \4 y
. 8—2=5 —4+3=7 . —+8=15

> 6 3+3 11 2+
z2=06 y=12 y=14
u C
5= 7.5-3= 1z.§+10:12
u==_y c =30 z=14
y b
Z+8=13 8. 242 =7 3. 842 =12
7 3 5
y=35 b=15 a="20
.§+5:9 9.2+g:11 14.6+g:12
x=16 y =281 c=>54

y

.1+g:8 10.g+10:17 5. 5+8=12
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Simple Linear Equations (B)

.7—%:3
245 =6
.5+§:12
.10+g:
Y 1=3

16

Solve for each variable.

68—%25 1L§+4:6
17+§:9 u8+g:11
&4+§:9 13%-1:5
92+§=11 142+§=11
m2+g:5 59—2:1
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Simple Linear Equations (B) Answers

Solve for each variable.

1% a y
1—-=3 . 8—==5 . =+4=6
1 6 5 noo+

v=16 a=27 y=4
2+g—6 77+§=9 u8+g:11
u =20 =38 z=27
54°=12 8. 442 =9 B2 1=5
6 4 2
z=42 x=20 u=12
1% % y
. 10+==16 9. 24+—-=11 14. 24+ = =11
6 8 8
v=236 v="72 y="72
L —1=3 10,242 =5 59— % =1
6 2 3
v=24 u==~06 y=24
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Simple Linear Equations (C)

1=
.2—4:5
.§+5=13
9—%:5
.4+§=12

Solve for each variable.

6.

10.

<
Z44=10
~+

ii10=17

L ——9=0

—+9=18

€110=18

11.

12.

13.

14.

15.

u
2+-=10
+8

10—==7

X 10=13
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Simple Linear Equations (C) Answers

S|
I+
(9] o
Y
(@)

. ——4=5
x =36

+5=13

SN &
I
N
o)

o O
|

oo | O

Solve for each variable.

< a
6. —+4=10 - —2=1
7 "3
z7=42 a=9
7.§+10=17 12.2+g:10
z=2135 u—064
8.%—920 13.6+==28
0 249-18 4. 10— 2 =7
6 2
u=>54 z2=06
1o.g+10=18 15.§+10213
c="72 x=12
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Simple Linear Equations (D)

.6+%:10
.%+m:&7
.2—6:2
1+3=38
.2+§:11

Solve for each variable.

C Z
6. 7T+—-=13 11.-+1=6
+3 6+
.
7. 14+-—=7 12.8+§:11
a u
-__8:1 _—
8 5 13. 6 5 2
C
9. s +7=10 14 3+g:5
b 1%
L= = 5.14—-=7
10 6+6 8 1 +4
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Simple Linear Equations (D) Answers

z§+uyzn
x =56

a
3. ——6=2
6
a =48

Solve for each variable.

c Z
6. 7+—-=13 .—+1=6
+3 116+
c—=18 z=130

Z
11+Z:7 128+K:11
z=24 v=27
&3—8:1 36—322
a=18 u=36
¢ a
9§+7:10 143+6:5
c=127 a=12
b
1Q8+6=8 15 14+-=7
b=12 v=24
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Simple Linear Equations (E)

.3—7:0
2—5:0
g—lzl
§+9:12

.§+2:9

Solve for each variable.

6§+2:4 11.
77+g:13 12
88—%24 13
9%-4:1 14
10%—1:1 15.

§+2:11

_3=6
.§—5=2
.9+§:18
7—%:1
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Simple Linear Equations (E) Answers

S0 | S
I
)
@)

Sco| S
I
N
(-

|
N
I
-

|
W
I
)

Solve for each variable.

u 1%

6. - +2=4 1. -+2=11
3Jr 3jL
u==~o6 v =27

b v

7745 =13 12. 2—3=6
b=>54 v=>54

8.8—)—):4 13.5—5:2

8 2
Vv Z

9 ——4—=1 14.9+§=18
§:40 z=45

1(),5_1: 15.7—E:1
4 7
c= =42
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Simple Linear Equations (F)

S —4=3

T+-==15

=

. 6+=-=15

Si4=6

Solve for each variable.

66+§:11
7. =4+4=13
&%-1:4
98—2:2
1&%+8:11

11.

12.

13.

14.

15.

M, Y
2

2—1:2
8—?23
S47=9
9+§:14
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Simple Linear Equations (F) Answers

. ——4=73
a=35

QW

+
N &
I
o))

Solve for each variable.

u Yy
6. 6+—-—=11 L ==2=2
+8 112
u =40 y=38
7. 24413 D )
7 6
u=063 u=18
u b
.5 1=4 13.8—- =3
u=45 b =135
98—§=2 14§+7:9
b=42 z=12
10. E+8:11 15. 9+)—)=14
4 2
u=12 y=10
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Simple Linear Equations (G)

. =+3=12

Solve for each variable.

6%+4:6 u6—g:0

7. 246=10 12.7+%:12
8.2_7:2 13.5+6:11
9,6_522 14.%+10:12
10.7—%22 15.7+g:11
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Simple Linear Equations (G) Answers

b
.5+-—=14
+9
b =281
C
2.5——-=1
5
c =20
X
3. -+1=6
3+
x=15
C
c=18
C
5.8—==1
2
c=14

Solve for each variable.

u u
6. —+4=6 . 6——=0
6+ 11 9
u=12 u=>54
7.§+6:10 12.7+§:12
b v
1 135+6 11
b =36 v =136
96—3:2 14£+m:12
2 6
m7—%:2 w7+g:11
y =235 a =36
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Simple Linear Equations (H)

5H9=1s
.§+2=5
.1o+§:12
.g+7=13
t6=14

3|

Solve for each variable.

65—§:3 1L§+9:18
75—420 12.4+g:13
88+§=16 13%-2:4
9.§+4:13 14 3—620
10.;+9:17 15.7+§:11
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Simple Linear Equations (H) Answers

C
1. — =1

9—|—9 5

c=54

2 240=5
x=12

3.10+==12
b=4

4 4T =13
c=>54

a

5. — =
7+6 14
a =56

Solve for each variable.

y b
6.5—5=3 nog+9=18
y=4 bh="172

.
1 g—4=0 1z4+g:13
v=232 a =45
X
8.8—|—Z:16 13. g_zz4
x =32 u=18
b a
.= = 14. ——6=0
94+4 13 9
u X
.= =17 T+==11
107+9 15 +2
u—=>56 x=28
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Simple Linear Equations (I)

Z
T4+ - =13
+8

T =15
.7+§:15
9—%:5

Pi0=ts

Solve for each variable.

6§+8:12 1.
1%—7:2 12.
&10+g:13 13.
94—222 14.
104+g:11 15.

6+§:11
8+§:15
3—7:1
+T=9
§+8:12
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Simple Linear Equations (I) Answers

Solve for each variable.

Z Z a
. T4+==13 . —+8=12 L 64+—=11
1 —|—8 62—|— 11 —|—3
z7=48 7=28 a=15

u Z Z
T+ ==1 L==T= L 8+==15
2 +6 5 78 7T=2 12 +8
u=48 z7="172 z7=256

u u Z
3.7+4=-=15 8. 10+—- =13 13. - —7=1

3 2 9
u=724 u==6 z7="172

u
4.9—§:5 9.4—5:2 14.f+7:9

4 8

u—=736 7= x=16
b a a
5.§+10:15 10.4+§:11 15.§+8:12
b=15 a =35 a =20
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Simple Linear Equations (J)

ORI

S
.§+4:13
+7=12
.%+9:14
.5+g:14

Solve for each variable.

65+%:14
17—3:3
&%—6:3
9g+7:9
10%—2:6

11.

12.

13.

14.

15.

c-1=1
9—%:4
g—2:6
8—%:3
6+g:12
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Simple Linear Equations (J) Answers

Solve for each variable.

Z c z
1. —+3=5 6. 5+—-=14 . ——1=1
5+ +6 11 2
z=10 c =54 z=16
2.§+4:13 7.7—323 12.9—%:4
7 =27 u=3_8 a=10
2 40712 .2 —6=3 3.2 2-6
2 8 9
a=10 y=72 a="72
£ 241914 0. Li7=09 4 8—2_3
3 5 3
a=15 =10 =15
u X y
5.5+=-=14 L =—=2= 15.64+—-—=12
+8 10 5 6 +6
u="7172 x=72 v =136
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